BFFENE EHRE
(09/13 138304 %)

[]:{iva K4 FRiE ouT IN TOTAL +-
WA FX T1&EILH 36 36 72 +1
. RH TE g - 35 37 72 +1
SH B = A 37 35 72 +1
Bk BE =N 35 37 72 +1
OB = Al 35 38 73 +2
5 #HE B +TiE 38 35 73 +2
*E &% HEA 34 39 73 +2
8 BT 8®X +TiE 37 37 74 +3
TR —% g - 37 37 74 +3
it BR +ELH 38 37 75 +4
10 ) & HEA 39 36 75 +4
AR HRE HEA 37 38 75 +4
B BN HEA 38 38 76 +5
13 EHH Bk &L 42 34 76 +5
il EB= = Al 39 37 76 +5
1 Ak E A 39 38 77 +6
R HA +1&EILH 37 40 77 +6
18 EBH IEA 8L 36 42 78 +7
=iE B A% 42 37 79 +8
19 AR =5 A~ 37 42 79 +8
LS g = 39 40 79 +8
=i —5 & 39 40 79 +8
23 EE = g = 38 42 80 +9
Jert  SRA0 HEA 42 38 80 +9
=fE & HEA 40 42 82 +11
25 EH B TiE 4] 4] 82 +11
T f14 HEA 41 41 82 +11
=i —E &L 4] 42 83 +12
08 INKRER a—h 40 43 83 +12
YN I N HEA 44 39 83 +12
R OIEE HEA 39 44 83 +12
32 MR ZA A~ 44 40 84 +13
g #H— =N 43 41 84 +13
it IEE A~ 4] 44 85| +14
34 LT Bk A 45 40 85 +14
AHx RX J) = 38 47 85 +14
BEAR B HEA 45 40 85| +14
38 TR FOi 8 L 42 44 86| +15
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BFFENE EHRE
(09/13 138304 %)

[[:{iva K4 FRiE ouT IN TOTAL +-
EE OBIE =N 41 47 88| +17
39 A = A% 43 45 88| +17
% EE HEA 47 41 88| +17
M =F HEA 39 49 88| +17
4 AT £ T1&EILH 45 44 89 +18
M tHh— =N 44 45 89 +18
45 BHE % A% 44 46 90 +19
RE HKE A7 48 42 90| +19
47 R BE gy - 4] 51 92  +21
RE BX HEA 50 42 921 421
49 WA =4 HEA 45 48 93 +22
KB EE =N 50 43 93] +22
51 =& fEXER HEA 42 52 94  +23
52 A B HEA 47 48 95 +24
BA 1B 8L 51 44 95 +24
54 mE B &L 47 53|  100[ @ +29
55 R mik HEA 51 54  105| +34
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